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QUESTION 1

Refer to the code below:

const event = new CustomEvent(

/IMissing Code

);

obj.dispatchEvent(event);

A developer needs to dispatch a custom event called update to send information about recordid.
Which two options could a developer insert at the placeholder in line 02 to achieve this?
Choose 2 answers

A. "Update\\', (recordld : “123abc\\'

B. "Update\\', “"123abc\\’

C. {type : ‘update\\', recordld : “"123abc\\' }

D. "Update\\', { Details : { recordid : "123abc\\' } }

Correct Answer: AD

QUESTION 2

A developer initiates a server with the file server,js and adds dependencies in the source codes package,json that are
required to run the server. Which command should the developer run to start the server locally?

A. start server,js

B. npm start server,js
C. npm start

D. node start

Correct Answer: C

QUESTION 3
Given the following code,what is the value of x? let x = "15\\' + (10 * 2);
A. 35

B. 50
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C. 1520

D. 3020

Correct Answer: C

QUESTION 4

Universal Containers (UC)notices that its application that allows users to search for accounts makes a network request
each time a key is pressed. This results in too many requests for the server to handle.

Address this problem, UC decides to implement a debounce function on string change handler.
What are three key steps to implement this debounce function?
Choose 3 answers:

A. If there is an existing setTimeout and the search string change, allow the existing setTimeout to finish, and do not
enqueue a new setTimeout.

B. When the search string changes, enqueue the request within a setTimeout.
C. Ensure that the network request has the property debounce set to true.

D. If there is an existing setTimeout and the search string changes, cancel the existing setTimeout using thepersisted
timerld and replace it with a new setTimeout.

E. Store the timeld of the setTimeout last enqueued by the search string change handle.

Correct Answer. ABC

QUESTION 5

Refer to the following code:
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What is the output of line 117?
A [1,2]

B. ["bar", "fo0"]

C. ["foo:1", "bar:2"]

D. [*foo", "bar"]

Correct Answer: D

QUESTION 6

The developer has a function that prints "Hello" to an input name.To test this, thedeveloper created a function that
returns "World". However the following snippet does not print " Hello World".

name () ) :};

Hello (world) ;

What can the developer do to change the code to print "Hello World" ?
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A. Change line 7to) () ;
B. Change line 2 to console.log("Hello\\' , name() );
C. Change line 9 to sayHello(world) ();
D. Change line 5 to function world () {

Correct Answer: B

QUESTION 7

Refer to the code below:

01 const server = require("server\\);
02 /* Insert code here */

A developer imports a library that creates a web server.The imported library uses events and callbacks to start the
servers

Which code should be inserted at the line 03 to set up an event and start the web server ?
A. Server.start ();

B. server.on(" connect \\', ( port) => { console.log("Listening on \\', port);})

C. server()

D. serve(( port) => (

E. console.log( "Listening on \\', port) ;

Correct Answer: B

QUESTION 8

There is a new requirement for a developer to implement a currPrice method that will return the current price of the item
or sales..

1
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What is the output when executing the code above
A. 50 Uncaught TypeError: saleltem,desrcription is not a function
B. 50
C.50
D. 50 Uncaught ReferenceError:this,discount is undefined

Correct Answer: B

QUESTION 9

A test has a dependency on database.query. During the test the dependency is replaced with an object called database
with the method, query, that returns an array. The developer needs to verify how many times the method was called
and

the arguments used each time.

Which two test approaches describe the requirement?

Choose 2 answers

A. Integration

B. Black box

C. White box

D. Mocking

Correct Answer: CD

QUESTION 10

Refer to the following code:
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Which statement should be added to line 09 for the code to display W The boat has a capacity of 10 people?
A. super.size = size;

B. ship.size size;

C. super (size);

D. this.size = size;

Correct Answer: D

QUESTION 11

Which option is a core Node,js module?
A. Path

B. los

C. Memory

D. locate

Correct Answer: A

QUESTION 12
Which three browser specific APIs are available for developers to persist data between page loads? Choose 3 answers

A. lIFEs
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B. indexedDB

C. Global variables
D. Cookies

E. localStorage.

Correct Answer: ABE

QUESTION 13

Which javascript methods can be used to serialize an object into a string and deserialize a JSON string into an object,
respectively?

A. JSON.stringify and JSON.parse

B. JSON.serialize and JSON.deserialize
C. JSON.encode and JSON.decode

D. JSON.parse and JSON.deserialize

Correct Answer: A

QUESTION 14

A developer creates a generic function to log custommessages in the console. To do this, the function below is
implemented.

01 function logStatus(status){

02 console./*Answer goes here*/{"Item status is: %s\\', status};

03}

Which three console logging methods allow the use of string substitution in line 027
A. Assert

B. Log

C. Message

D. Info

E. Error

Correct Answer: BDE

QUESTION 15

JAVASCRIPT-DEVELOPER-I VCE Dumps | JAVASCRIPT-DEVELOPER-I Practice Test | JAVASCRIPT8/ 10
DEVELOPER-I Braindumps


https://www.certbus.com/javascript-developer-i.html
https://www.certbus.com/javascript-developer-i.html
https://www.certbus.com/javascript-developer-i.html
https://www.certbus.com/javascript-developer-i.html

CE RTBUS 2024 Latest certbus JAVASCRIPT-DEVELOPER-I PDF and VCE dumps

Download
Refer to the following code:
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01 function Tiger() ({
D2 this.type = *Cat?';
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0f let tony = new Tiger():;

07 tony.rcar = () => |

OB console. log('"Thay\"'re greatc!');
09 });
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+9 }

15

-

16 let leo = new Lion();
17 // Insert code here

': ‘..-h - - -

- L-r-r‘lﬁ-r‘all-.,'

Which two statement could be inserted at line 17 to enable the function call on line 18? Choose 2 answers
A. Object.assign (leo, tony);

B. Object.assign (leo. Tiger);

C. leo.roar = () => { console.log(\'They\\\'re pretty good!\\'););

D. leo.prototype.roar = () =>( console.log(\\'They\\\'re pretty good!\\'); };

Correct Answer: AC
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